Punnett Squares Worksheet


Name ________________________________

Introduction: In pea plants the following conditions were found to be true: tall plants are dominant over short and round seeds are dominant over wrinkled.
Draw and color the offspring of pea plants on the following purebred crosses.  Write the symbols in the boxes which would represent each one.

	
	
	
	
	

	
	
	
	
	

	purebred round X purebred wrinkled
	
	hybrid tall X hybrid tall


1. In pea plants, round seeds are dominant over wrinkled seeds.  A purebred round seed

    is crossed with a purebred wrinkled seed.

A. _____________________ What are the symbols for the purebred round seeds?

B. _____________________ What are the symbols for the purebred wrinkled seeds?

C. _____________________ What % of the offspring will be round?

D. _____________________ What % of the offspring will be wrinkled?

E. _____________________ What % of the offspring will be purebreds?

F. _____________________ What % of the offspring will be hybrids?

G. _____________________ What will be the genotypic ratio of the offspring?

H. _____________________ What will be the phenotypic ratio of the offspring?

2. A hybrid tall plant is crossed with a hybrid tall plant.

A. _____________________ What are the symbols for the hybrid tall plants?

B. _____________________ What % of the offspring will be tall?

C. _____________________ What % of the offspring will be short?

D. _____________________ What % of the offspring will be purebreds?

E. _____________________ What % of the offspring will be hybrids?

F. _____________________ What will be the genotypic ratio of the offspring?

G. _____________________ What will be the phenotypic ratio of the offspring?
For each scenario, show your work by drawing the punnett square below:
1. In humans, tongue rolling (T) is dominant to non-tongue rolling. If a homozygous dominant tongue roller marries a homozygous recessive non tongue-roller, what percentage of the offspring would you expect to be tongue-rollers?

a. 25%

b. 50%

c. 100%

d. 75%

2. In humans, what is the probability that a couple's first child will be a boy?
a. 3/4

b. 1/2

c. 4/4

d. 1/4

3. A widow's peak is dominant and the lack of widow's peak is recessive. If a heterozygous individual with a widow's peak mates with a person without a widow's peak, what is the probability of the children having a widow's peak?
a. 100%

b. 50%

c. 75%

d. 25%

4. The straight thumb is dominant and the hitchhiker thumb is recessive. Cross these two genotypes: A person who is homozgyous dominant for a straight finger mates with a person with a hitchhikers thumb. What is the probability of the children inheriting the HITCHHIKER thumb?

a. 50%
b. 0%

c. 100%

d. 75%

